ok Al 4:9)

o4

ool g FabE?

P %x32x5 22x3%2x7, 23x32

@D 470 @ 671 ® 871 @ 971 ® 1070



7429] o7} 16em , AlEY
oA WEGe] Bold Fhg &

7E10] 7]. 20 cm ©l 7\1/\]-71-;
o
A2k o) gk wle] o9

@D 30cm @ 40cm ® 50cm



=Y #7F A2 48 7N, 72 A F BUHH A, B7H A2 HEE
=3 Aot F FUEZE 22 ool Al HEEle A2 A Tt

ol 9 ¥l 34 FU7})



T 2A4: A, B 9] | poksE 8 HATuj4= 280 )1, A+B = 96
d,A-B=? (%, A>B)

@D 12 ® 13 3 14 @ 15 ® 16



5. T4 20x33x52x7 24 x5 x 70 x11* 9] HFF4rF 280 € o],
a+b+c 9 k&2

@D 5 ® 4 3) 3 @ 2 G 1



A A% A, 63,105 ©) ATEtRst o1 AW, b F Ak R 5
e AL

@D 20 ® 924 B 44 @ 64 B 84



7t 2] 40]7} 200cm, M2 2] Zo]7F 120cm Q1 24
wlere] W B o] gEE hse o 2 4A2E B o

=01l gtrt. ofufl, Bfd o] gF §io] AolE a, WAt EFA L] A
bt e, a+b°] TS FSHAE?

I 1o 1o
Ui o

@ 55 ® 57 B 58 @ 64 B 70



